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ZBROJI BROJEVE U SLJEDEĆIM ZADACIMA:
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Addition 1

0+ 500= 11004700+ 150041600+
18004500+, 2100+ 300= 150042600
2800+500 3100+ 700+ 150043 600
3900+500 4100 +700= 150044 600

15004370 250046 800= 260046300,
4300+ 1400 380043 600= 150046000
140048500 2000+8000. 430041000
2200+ 4400+ 230044 800= 600042100
340042600 $500+1200= 3043700+
3000+ 1500+ 530042300, 500043100

OBUNG 3. GROBER, KLEINER ODER GLECHE
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30042100 3000 +500 14004250 3000+210

210003300 () 400041500 14004150 O 150041800

45004300 1400+4000 330042500 () 300042600
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